INDIAN SCHOOL AL WADI AL KABIR

First Rehearsal Examination 2022-23
SUB: ECONOMICS (030)

Answer Key
Class: XII Maximum Marks: 80
Q.No SECTION- A: MACRO ECONOMICS Marks
; : d. Number of students going to UK for higher studies will increase. 1

Explanation: When price of $ falls, it bcomes cheaper to go abroad for higher
education. No of students going abroad will rise, leading to a rise in dd for
British pound.

3 d 1

4 b 1

5 Option b 1
Or: Option a

6 Option b 1

7 a) 1,2and 4 are correct, 3 is a wrong statement 1

8 A:b 1

Soln: Current account balance = Balance of visible trade (Export of goods —
Import of goods) + Balance of invisible trade = 18000

OR
A: Rs 300 lakh

Soln:
Balance on non-factor services = Current account balance — Trade balance
(Export — Import) — Balance on income — Balance on transfers = 300

9 Option ¢ 1
10 | Optiond ;
= ~poTT Y IaUCure
16. | Calculate the & b
11 (1s .; value ol ‘Change in Stock’ from the following data: (o 2‘::0::"'“) 3
() Sules o
()N i g i
(”‘:, N:,.,‘;,:,::. added at fctor cost INVA ."::;
(m) Change in stock 4
(v) Depreciation i

() Intermediate COmUmpnn -
Ans. Change in Stock
Net val : S ) i
b ue added at factor cost - Sales + nfes mediate consumption + Depreciation - Subisidics
=00 crore — 400 crove + € 100 crare + T A0 crore - T 10 oore
= (=) TT0 qure

Change in stock = (<) T 70 crore

OR
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Firm A spent T 500 on non-factor inputs und

worth T 600 and € 300 to Fiem B u..s « Pmd“d M' iy
Value Added by Firm A. 3
Cross Value Added by Firm A

= Value of goads produced (Sold 1o firm B+ So%l 19 consaifier

Ao-factar inpes
= 9003 600 + T 300) =T 500
=T 400
Gross value added by firm A = 2 400,
12 Basis Devaluation Depreciation 3
Devaluation is the fall in the
value of the domestic currency in ) .
it occurs when the value of domestic
relation to foreign currency
: currency decreases in relation to the value
under the fixed exchange rate
) ) 3 of foreign currency in the foreign exchange
Meaning | regime, It is planned by the =
7 v market under the fiexible exchange rate
Government in a situation when
; regime. It takes place due to market forces
the exchange rate is not
v of demand and supply
determined by the forces of
demand and supply
The increase in demand or decrease in
supply for the foreign exchange causes
depreciation of domestic currency, e.g. $1
The government has changed _ » 3
) exchanges rate is Rs. 45 instead of Rs. 40
the exchange rate of $1 from Rs )
o due to the market forces of demand and
Example | 40 to Rs. 45, This is an example
supply. Here there i1s no government
of the devaluation of currency
intervention. The depreciation is happening
made by the government.
solely due to the effect of changes in
demand and supply for the foreign
exchange.
When there is an excess of receipts over payments made by a country, it is called
favourable balance of payment. This situation is favourable because there is more
money coming into the country than what is going out of the country.
Favourable balance is when R>P.orR-P > 0.
13 Suppose the original savings function is given as, 4

S =-50 + 0.5Y and investment (I) = 25 + 0.25Y.

Equilibrium level of income will be attained at the level where
Saving = Investment ! -50 + 0.5Y =25 + 0.25Y

0.25Y =75Y =300

Therefore, savings at Y=300 will be S =-50 + 0.5 (300) = 100
ii. Multiplier =2

iii. Min value:1

Maximum value: infinity
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14

nhefallingdeumndi.u),-eec
“obT " . Elaborate the rationale por o the Rege
b ook Rate: € behing yy, R“‘!rve -
gank °“epgeﬂt.e!ren‘.y,“ﬁ:l“d“i,..‘;,‘.\;_' ccently reduced

rate is the faw at _whichr the Reserye B
5 Banbl;o'sl the falling demand in th'e:'¢:c('m¢,',,,;"‘;t of lndm lends mo,s
To ercial banks lower the market raqe of in’lc:: 5 Tate isd Creased.
O to the consuzers and the investors) Thj:(ltx‘::r Tate at Which the com
] A itu = b CaASes :
Tonsum fdon exp;n re a.\nd mvgsf-ment.expendimre:::;.dema",d for ‘credit. Conseq, rently
te demand, as required 0 boost falling g 2re increased. Implying an ineresy
aggres? 3 g UNg demand in the economy, P T METEAE in
u’Ib boos‘ the mll-ng demnndm the ei:onomy’. 'he:R ; Bkt :y'
» We Ratlo.” Elabomte tlm l'ationa_[e behindth _ 5 : lndhm’ reduced the
Cash : = : '"“"P"lhubyth‘z:?unlm
_ Cash T serv S rathR (, ; )Br:ql‘:l r:sl t:e Commerc_:xgl 'ba;nks\,wﬁmaimain'muin‘minimum cash
erves with th.e eserve | .‘n ORIy percentage of their total deposits,
Toboost the falling d(?mand in the economy, CRR s reduced. Acutin the cash reserve ratio raises
edit creation capacity of the commercial banks. Because a cut in the cash reserves with RBI
aises cash balances with the commercial banks:‘And\d rise in cash balances with the banks causes
multiple-times rise in their demand deposits (implying creation of credit by the commercial
;anks)..gc"c'Ordin'gly.“ flow of credit in the market is increased; aggregate demand is increased, as
required to boost falling demand. _ 3 )
oS ; (Choose the correct alternative)
two fiscalm \ T 1

15

i . ; = T T any
; ‘T:g‘"‘;:g:;m ,mw.@“c“n‘? State |CBSE 2020 (53!3!1; ‘;'

L AD, (C¥ L +A1

-
£
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16

How is Real Gross Domestic Product (GDP) different from No
(GDP)? Explain using a numerical example. so0ds

Real GDP (Gross Domestic Product) is the market value of the final & st{ma!ﬁ
within the domestic territory of a country during an accounting yearn >
year prices. Base year is the year of comparison. o
Nominal GDP (Gross Domestic Product) is the market value of the HD¢
produced within the domestic territory of a country during an accou
using the current year prices. Current year prices are the prices pre ‘IVL.,
estimation.

If real GDP = ¥ 600 and price index = 110, then

17

OR
a. Government has started spending more or providing free services like educ
Explain the economic value it reflects.
b. Give meanings of revenue receipts and capital expenditures with one exam

mes™ 7o 1)1
. 1Gross PO 19 (58/
B 2::.’ I roduced
o se: using the be

Nominal GDP %100

Real GDE = Price Index

Price Index
Nominal GDP = Real GDP X —r5ec=

= GOOX-%% o] el

=T 660

.......... ko
B n while estimatinyg 11auuias uLole by,
(2 _ihtoaccountto avoid error of doublecy
- rermediate expenditure) is not ol
ds s not to be included.
IISnot to be included.
- ;‘(_'called transfer expenditure) st

,'ioduced goods (like the farmer

lis own house) should be included
ken aCcoy

ds and services is to be ta |

Lonly as intermediate const

Ans. Revenue receipts: The receipts of government which neither create a
of the government, nor it create any reduction in assets, are termed as rever
of the government.
Captial expenditure: The expenditure by the government which leads to
assets and reduction in government liabilities, is termed as capital expendit
construction of national highways, dams and repayment of loans, etc.

Ans. The economic value reflected by the above act of the government is ‘I
The government uses the fiscal instruments of subsidies and taxation to imy
income and wealth in the economy. By spending more on provision of free

ny casresp
ue receipts

AN increase

bnding i

, .0). tax

in gover

Ure, €.9. expenses o

Promoting Socjal W
rove the djstributio
services like educa

health, government is trying to promote social justice. Social justice is the principal objective c

budget of a developing country like India. It leads to fair and equitable dist
economy.

ibution of

ation and h

ple for each.

income i

ealth to t
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Ans. Revenue receipts: The receipts of government which neither create any corres
government, nor it create any reduction in assets, are termed as revenue receipts, e
government.

Captial expenditure: The expenditure by the government which leads to an increas
reduction in government liabilities, is termed as capital expenditure, e.g. expenses
national highways, dams and repayment of loans, etc.

Ans. The economic value reflected by the above act of the government is ‘Promoti
government uses the fiscal instruments of subsidies and taxation to improve the dig
wealth in the economy. By spending more on provision of free services like educat
Is trying to promote social justice. Social justice is the principal objective of annua
country like India. It leads to fair and equitable distribution of income in an econor
OR
A: a. Surplus budget is that budget in which estimated government receipts are mo
expenditure

or
Surplus Budget = estimated Receipts > estimated Expenditure.

a. b.Fiscal deficit is always a wider concept than revenue deficit.

b. Revenue deficit is defined as the excess of government’s revenue expendity

terms of formula:
Revenue Deficit = Revenue Expenditures (RE) — Revenue Receipts (RR)

C. In short, there will be revenue deficit in a government budget when revenug
revenue receipts.

d. Fiscal deficit is defined as the excess of total budget expenditure over total
e. Initially, Fiscal deficit does not take into account all types of receipts. It do

borrowing. But finally they have to depend on borrowing to met fiscal deficit.
Fiscal Deficit = Revenue Deficit + Capital Deficit (Excluding Borrowing)

= Borrowing

= Net borrowing at home + Borrowing from RBI + Borrowing from abroad

c.The deficit in a government budget can be reduced by the following step:
a. Taxes should be increased. Government can make a plan for rising direct ta
can also be raised by increasing rates of taxes or by imposing new taxes. Direct tax
because its cost of collection is quite lower.

b. Reduction in Government Expenditures: It can be done through making go
efficient through better planning of programmes and better administration.

C. Disinvestment — The government can raise its receipts through the sale of s
Undertaking).

d. Changing the scope and role of government by withdrawing from some are

SECTION B: INDIAN ECONOMIC DEVELOPMENT

18 A:a 1
19 A: Human capital 1
20 A:c 1
21 Agricultural diversification refers to change in cropping pattern and/ or a shift of 1

workforce from agriculture to other allied activities and non-agriculture sector.

OR

Aic
22 A: b 1
23 A:d 1

OR
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26

27

> > > > >
o 2o lo]e

OR

>
1O

e

28

m workforce, Labour force refers to the number of people

work at the existing wage rate. Workforce, on the other

le who are actually engaged in employment.

ien in India points 10 our economic and social

vardness, because the economy fails to generate
-because job work for the women is considered

29

The main causes of India’s agricultural stagnation during the colonial period
were:

(1) Land revenue system under the British rule The Britishers in India established
the zamindari system. Under this system, the zamindars were the permanent
owners of the land. For their ownership rights, they were required to pay a fixed
sum to the government as land revenue and they were given full freedom to
charge any revenue they wanted from the tillers. The zamindars had lavish and
extravagant lifestyles and they mercilessly exploited the poor tillers and did
nothing for their upliftment.

(i) Lacking of resources Because the tillers had to pay huge amount of rent,
referred to as ‘Lagaan’, they were not left with any surplus to be able to provide
for resources needed in agriculture in the form of fertilisers or providing for
irrigation facilities. This further lowered the agricultural productivity.

(iii) Commercialisation of agriculture Instead of producing food crops, fanners
were producing cash crops, which were ultimately used by British industries.
This further compounded the plight of the tillers. While earlier they were
growing crops to meet their family needs, now they had to purchase from the
market. This led to an increase in indebtedness and they were constantly
borrowing from moneylenders and landlords at very high rate of interests.

30

Production of indigo is a good example of the same.

31

A: b:

The following are the two-fold motive behind the systematic de-industrialisation
affected by the British

(i) Making India a supplier of raw materials: The main motive of the British
Government was to make India a mere supplier of cheap raw materials to feed its
own rapidly expanding industrial base.

(if) Making India a market for finished goods: Another important objective of the
British Government in de-industrialising Indian economy was to use India as a
large and growing market to sell the finished goods produced by the British
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industries, so that their industries never face a demand shortage and could keep
on flourishing.
A:a
Under the British rule, basic infrastructures such as railways, ports, water
transport, postage and telegraph developed, but the objective behind the
development of infrastructure was not to provide basic amenities to the people
but to cater to their colonial interests.
The objectives of the Britishers behind the development of infrastructure were
e Roads were developed for the purpose of mobilising armies and
transporting raw materials to the nearest railway station or port.
o Railways was developed to encourage commercialisation of agriculture.
Postage and telegraph were introduced to enable them to control the large sub-
continent.

32

Write about Self reliance 4
OR
A:b
Foreign trade refers to the exchange of goods and services among different
countries.
In the first seven Five Year Plans, India followed an inward looking trade
strategy. This strategy aimed at replacing or substituting imports with domestic
production, i.e. instead of importing goods made in a foreign country, industries
would be encouraged to produce them in India itself. This concept is referred to
as import substitution. Thus, the government protected the domestic industries
from foreign competition through this policy.
Protection from imports took two forms
e Tariffs, i.e. a tax on imported goods to make imported goods more
expensive and discourage their use.
« Quotas specify the quantity of goods which can be imported.
The policy of import substitution provides protection to domestic industries from
foreign competition. The rationale for this policy is that industries of developing
countries like India are not in a position to compete against the goods produced
by developed economies. It is assumed that if the domestic industries are
protected in the infant stage, they will gain strength by being able to produce on
large scale and through experience they will be able to compete globally in the
course of time.

33

1, R - 1+3+1+
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2.
3. Micro Small Medium Enterprises

4.A:a

34

A: b:

Subsidy is an economic benefit, direct or indirect, granted by a government to
domestic producers of goods or services, often to strengthen their competitive
position against foreign companies.

It helps farmers to buy HY'V seeds, fertilizers and other inputs. The burden of
granting subsidies falls on the government. The government has to bear the
burden of financing subsidies.

There is scope for improving the resource use efficiency by reducing subsidies
and aiming them better to small farmers and regions lagging behind.

A:a

Green Revolution. This strategy, which was launched in October 1965, has been
given different names such as, New Agricultural Strategy (NAS), or Seed-
Fertilizers Water Technology.

Before adopting the New Agricultural Strategy (NAS), the state of Indian
agriculture was as follows:

(a) there was low and erratic growth,

(b) there was extreme regional unevenness and growing interclass inequality,

(c) there were serious droughts for two consecutive years

(d) there was a war with Pakistan

(e) USA denied India PL 480 imports.

India decided to get rid of this dependence on foreign aid in such a vital matter as
food supply.

And that was the genesis of our Green Revolution, i.e., biochemical technology
to step up output per acre by using scientifically inclined techniques and methods
of production.

Benefits of Green Revolution.

(i) Increase in Income. Since the Green Revolution was limited to wheat and rice
for a number of years, its benefits were enjoyed by wheat and rice growing areas
of Punjab, Haryana, Western Uttar Pradesh and Andhra Pradesh. The income of
farmers in these States grew sharply. Green Revolution succeeded in removing
rural poverty in these States.

(ii) Impact on Social Revolution. Along with economic revolution there was a
social revolution. The old social beliefs and customs were destroyed and people
were willing to accept changes in technology, seeds and fertilizers.” The
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traditional methods of farming were transformed into modern methods of
farming.

(iii) Increase in Employment. Green Revolution solved the problem of seasonal
unemployment to a great extent because with the possibility of growing more
than one crop on a piece of land, more working hands were needed throughout
the year. Also, package inputs regired better irrigation facilities which raised the
employment rate.
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